48 +3




2.

o el B [ ot ggke 4
72:6=12>72+6=] |

YR
-



3.47+16 = 0.21 U] [




4.

4

o
j

o7} 21.5em §1 HRERHE 5 SR 1 &

A

o]-/\]

__--215cm--_

- o

cm



s

=

2%



6.

[ ]l @+ @+ ® 9 ghe 734 2.

2562 2562 1

100 © 100 “[@ -

2562 +7=

100

S EER
=%







8. [ |orelggre FE R YOS,
17664 + 16 = 1104 — 176.64 + 16 =[]

YR
-



[]

267 +3=89=>267+3



10.

the 2= o] 42 2 21e]7} 00) LeAlAlo] = @ Fjjol 2] £}
AlQ.

7} 90.45 + 15 U 61.36 + 13

t} 96.72 + 24 2} 52.29 =+ 21

e 7



ofgro 2
oto]| ¢
]

11.

m{ru

A

oL

OAQ.,

4
13
H X

L}

[ ]

=54 =

GT

235.




o



13.

=e7F46.06 m Q) 5o FE2 Ao R 1407 AR E A

A7 g e} 1R Alole] Aele @ m = sjof sl
AlQ.

ge o



® 30+40






16. 4.72+ 89 Akt g o2 &

472 1 472
®7>< !

@

10 8
A7

- @ — =8

00t ©® 58



17.

LRFEITNES

—[n

A7t 1kg ]ﬂ"?j

kg

AL
o
o
=]

ZFo] FA7F 19.02kg
24 o BAE

I3
™
=

&
kg <!

1]



18. ol 5 6= s AS ARt 72 Rl Y o] 2.85 A5 U
olH #5622 Uz 1 I Hi= M L.

s
=¥



19. 1% Hxrb 158 5% 79kmE EREUTh 12 ¢ 2 kmE 3
Aol 2] vl A% B4 AE]7HA] YEFUA .

2. (0.666--- — °F
0.67)

=

B:of km



3.5%} 3.75 AFo] o]

20.



o] 242 A 9.

@ 46.8+6

© 108.16 + 13

© 90.16 + 14

® 136.51 + 17

SR
=%




22. Ao 52 whedsiel 44 S4) A2)7hA Ve L.

3.3+ 14 =0.2357---

YR
=%



= 707} 5.9m el A Ho] S 741 gguet, o] A Hlo|x
£ SO 23 de A Holng 75 R 2k 78

Ut} 22 @ S vEL o 483 A o mi of B m
Q174 Wrewstel &% SA AHel7tA] UEA L. (0.6 — OF



24. ol 52318 o] & 21 BEste] 2302 LrglH U ol 27
o] 3 el 2|7} 130] Hgict. uh2A] ALt AE we] - e sto]
g B A7) T

g



Al 2] 5

6,0, 5, 49] 5=}

25.

58 AL

T

__01_

=

o

Hfjof] 24.8

£ 159

]?_‘I-_



